O olA mIAl7F 2 HQ) LA A& R a2 Y(

® x(x-y)=0 @ x--=1
y

® x2+y?=1 @ 2(x-y) =

® x2-y=x+x>



xy 7 A5 W, AR 214 y-10 = 0 9] 817} obd 29

2.

@ (2,6) ® (3.4 @ 42 O (50

@ (1,8)



g, b - 3a 9



A4
2x+y=10
o, 4% a o) 7E2?
1 3
® 5 @ -2

® 6



th AHEA A9 o
3(x—2y) +5y =2

® (-2, 3)

@ (-3, 1)

2 (x, y) 2 HFEA ek 212

@ (1. 1) ® (-4, 2)
® (2, 5)



0.5x—0.1y—0.2 =0.3x+0.1 = 1

® (-3, 1)

@ (2, 1)

_2)

@ (3, 3)

® (1, 5)



Jolo} 5430] Lol o] e 16 Aol 1L, 2 11 M= 8ol o] 1ho]7}
= 0] Lol o] 5 BjATHIL ghT}. @A) SA9] Lol

@ 24 @ 3A @ 4A @ 5A ® 124



@ 3 ® 571 @ 770 ® 97}

@ 1A



HEHA 20—y =2, ax—y =2 A 37 (b, 6) D W, AP a+b
ke ot

1o g

@ 2 @ 4 @ 6 @ 8 ® 10



171 3x + 2y

9|

9:{

x+2y=a

29

a °] gk

® -10

@ -8



1
5x—2y=4 " gx_0.2y:1
Wrmdr=s x—0.6y=3
4y =8x+3 @ 04x-09y=1.2

2x=3(x+y) =6
3x+9y=-18



12.

g vho] mjate] 24747

e 7ol 2 W, 29)

@ 34 @ 49

Q
[$]

170l A

KL
ul
rr



13.

=949 do]7F 800m 1 247t At 84dolet S o|7F 49
Ed2 S0 Zougrog W 10 B Tof by, Hiof Brgko 2
EH 2 B SO gt gt g4do]e] o] sdolo] £ ETt
w2k oF off, 8 4do]e] £227

@® 100m/ & @ 200m/ & ® 240m/ &

@ 260m/ & ® 300m/ &



14.

ol AHo A At & A EAY B EALS T FHL 70 Tho]
ol T FHE A 7L 4% , B 7} 2% 5014 A, B S §dlo] 2 o
Wobxthal gt} o] dof A BEA-& | FH-2?

@ 312000 & @ 335000 Y ® 359000 ¢

@ 398000 ¢ ® 408000 ¥



15.

oz} gt
ot sH ot ofzke 45
S8 60, <2t 127K
® st 65, <& 1371

s 607, o4 1174

gt ool 5 g4 gre
N7F G mpRe §

W 5ol Wi, 6EH
sk ol 2ol 5ol giA| ki

22} ot

)
@

Y 657, <7 1171

S8 657, <7t 1271



